Sec. 11-DAIRY PRODUCE (Continued).

Visit COLES Variety Stores

567

CLASS 1 CONTINUOUS GRADING CLASS FOR BUTTER (LOCAL CONSUMPTION) Special 56lb. Manufactured and packed ready for Prizes, £40, viz.: First Prize, £20; second prize, £12 10s., third prize, £5; fourth prize, £2 10s., and a Medal or Trophy to the butter-maker of the factory securing the first prize and a Silver Medal each to the makers of the second, third, and fourth prize exhibits. The factory to nominate the recipients of the medals.

A Bronze Medal will be awarded each factory gaining a box average of 93.5 per cent over the period of competition, provided that for any month the average grading of the factory shall not be under choicest grade of 93 points.

CONDITIONS.

- 1. The competition is for salted butter sold on the local market in N.S.W.
- 2. The Grading Period will extend from 1st March, 1947, to 28th February, 1948. From the consignments, during the month of March, one box may be taken for exhibition at the Show.
- 3. Every factory competing must grade officially at least 85 per cent of its production as choicest quality.
- 4. The official grading by the State Officers of all the registered choicest brands of factories entered for this competition will be taken each month for the full period and results worked out by taking the actual mean average in which the number of boxes in each consignment, together with the grading points, is taken into account.
- 5. At least three gradings, including at least four churnings, representing at least two vats of cream in each grading, must be recorded each month to enable a competitor to quality for the prizes.
- 6. The grading points allotted by the State Graders will be taken for the full period and a box average established by dividing the total of the points allotted to each consignment by the total number of boxes graded, and the exhibits obtaining the highest box average will be awarded the prizes.
- 1. Albury District Rural Co-op. Society, Ltd.
- Bega Co-op. Society, Ltd.
- Bowraville Co-op. Society, Ltd.
- Casino Co-op. Dairy Society, Ltd.
- Comboyne Rural Co-op. Society, Ltd.
- Dorrigo Co-op. Dairy Co., Ltd.
- Foley Bros. Pty., Ltd. (Lismore).
- Foley Bros. Pty., Ltd. (Mullumbimby). Foley Bros. Pty., Ltd. (Southgate).
- Gloucester Dairy Co., Ltd.
- Grafton Dairy Co., Ltd.
- Macleay River Co-op. Dairying Co., Ltd. Norco Co-op., Ltd. (Alstonville).
- Norco Co-op., Ltd. (Binna Burra).
- Norco Co-op., Ltd. (Byron Bay). Norco Co-op., Ltd. (Coraki).
- Norco Co-op., Ltd. (Kyogle).
- Norco Co-op., Ltd. (Lismore).
- Norco Co-op., Ltd. (Murwillumbah). Norco Co-op., Ltd. (Nimbin).

Peters Creameries Pty., Ltd. (Taree).

56lb. Manufactured and packed ready for storage for local consumption. Butter to contain a minimum of 15.5 per cent and a maximum of 16 per cent moisture. The butter will be judged on receipt at cold store, prior to being placed in cold storage, and again at the Show. The factories gaining the greatest aggregate of both judgings will be awarded the prizes. Exhibits to be in cold store by Saturday, 3rd January. First prize, £4; second prize, £2 10s.; third prize £1.

 Bega Co-op. Society, Ltd.
 Bellinger River Co-op. Butter and Bacon Society, Ltd. Bowraville Co-op. Society, Ltd.

Casino Co-op. Dairy Society, Ltd.

26. Clarence River Pioneer Co-op. Dairying Co.,

27. Cobargo District Co-op. Creamery Co., Ltd. Coff's Harbour Co-op. Dairying and Refrigera-

tion Society, Ltd.

Dorrige Co-op. Dairy Co., Ltd. Downs Co-op. Dairy Assoc., Ltd. (Clifton, Q'ld.). Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest,

32. Downs Co-op. Dairy Assoc., Ltd. (Dalby, Q'ld.).

Downs Co-op. Dairy Assoc., Ltd. (Goombungee,

34. Downs Co-op. Dairy Assoc., Ltd. (Jandowae, Q'ld.).

35. Downs Co-op. Dairy Assoc., Ltd. (Toowoomba, Q'ld.).

Dungog Co-op. Butter Factory, Ltd.

Foley Bros. Pty., Ltd. (Lismore). Foley Bros. Pty., Ltd. (Mullumbimby).

Foley Bros. Pty., Ltd. (Southgate).

Gloucester Dairy Co., Ltd.

Grafton Dairy Co., Ltd. Maeleay River Co-op. Dairying Co., Ltd.

Manning River Co-op. Dairy Society, Ltd. Nambueca Co-op. Society, Ltd.

Norco Co-op., Ltd. (Byron Bay). Norco Co-op., Ltd. (Kyogle).

Norco Co-op., Ltd. (Lismore).

Norco Co-op., Ltd. (Murwillumbah). 49. Norco Co-op., Ltd. (Nimbin).

50. Pambula Co-op. Creamery and Dairy Co., Ltd. Raleigh Co-op. Butter Society, Ltd.

52. Singleton Central Co-op. Dairy Co., Ltd.

Tumut Co-op. Dairy Co., Ltd. 54. Upper Macleay Co-op. Dairy Co., Ltd.

CLASS 3 Butter, salted, 1 package, not less than 56lb. Manufactured and packed ready for export. Exhibits to be in cold store by Wednesday, 4th February. First prize, £4; second prize, £2 10s.; third prize, £1.

55. Bega Co-op. Society, Ltd.56. Bellinger River Co-op. Butter and Bacon Society, Ltd.

57. Bowraville Co-op. Society, Ltd.

58. Casino Co-op. Dairy Society, Ltd. 59. Clarence River Pioneer Co-op. Dairying Co.,

YORKSHIRE INSURANCE CO., LTD. — Claims paid by the Company exceed £56,000,000. Insurances effected on Live Stock up to any sum.

Section II—DAIRY PRODUCE

BUTTER, CHEESE, HAMS, BACON, AND LARD.

The Hon. E. J. Eggins, M.L.C. (Chairman) P. Charley E. H. K. Downes

Committee : Col. T. E. Irwin Major J. Russell King R. S. Maynard

V. J. G. See E. A. Southee A. J. Tanner

Steward-in-Chief: The Hon. E. J. Eggins, M.L.C.

> Deputy Steward-in-Chief: R. S. Maynard.

> > BUTTER.

Judges : (Local Consumption):

F. W. Wilkinson, Department of Agriculture, N.S.W., Sydney.

N. A. Chant G. S. Cook F. Vernon

Stewards:

O. K. Belford

J. McGahey

J. T. Dickson, Department of Agriculture, N.S.W., Sydney.

W. F. Hussey,

Department of Agriculture and Commerc , Margaret-st., Sydney.

Department of Agriculture and Commerce, Margaret-st., Sydney.

Butter in all classes to be made from pasteurised cream and no preservative other than sait to be added. All butter exhibited may be subject to analysis.

All butter, specially manufactured and prepared for exhibition purposes, must be packed in PLAIN STANDARD LOCAL BOXES (BRANDED BOXES NOT PERMITTED).
All exhibits for Classes 2 to 6 to be addressed to the Secretary, Royal Agricultural Society of N.S.W., c/o. Waterside Cold Stores Pty.,
All exhibits for Classes 2 to 6 to be addressed to the Secretary, Royal Agricultural Society of N.S.W., c/o. Waterside Cold Stores Pty.,
Ltd., 10 Point-st., Pyrmont, Sydney, and must be in cold store as stated in each Class.

Exhibitors failing to observe this Regulation are liable to disqualification.
Exhibitors failing to observe this Regulation are liable to eligible to disqualification.

Exhibitors failing to observe this Regulation are liable to disqualification.

Which the exhibit is intended, must be securely affixed to the lid of each box before it is wrapped in its protecting cover.

Which the exhibit is intended, must be securely affixed to the lid of each box before it is wrapped in its protecting cover.

The surface of the butter must be impressed with the Australian Roller brand.

An exhibitor who may desire to go through the exhibits with the judge, after judging day, shall make an appointment through the Steward-in-Chief or the Secretary.

Steward-in-Chief or the Secretary. Arrival and Departure of Exhibits.

Butter for classes as hereunder mentioned must be addressed to the Secretary, Royal Agricultural Society of N.S.W., Waterside Cold Stores Phy., Ltd., 10 Point-st., Pyrmont, Sydney, and be delivered not later than the dates shown, viz.:—

(lass 2—Saturday, 3rd January,
(lass 3—Wednesday, 4th February,
(lass 4—Unring March)

Class 3— Wednesday, 310 February.
Class 4— During March.
For Class 7, butter to be addressed to the Secretary, Royal Agricultural Society of N.S.W., Showground, Moore Park, Sydney, and must be delivered at Showground not later than 5 p.m. on Monday, 22nd March. All butter may be removed on Wednesday afternoon 31st March. Each factory must supply agent with delivery order to obtain butter.

Storage of Export Butter.

All exhibits for storage will be placed in cool chamber and kept at a temperature not exceeding 20 degrees. The exhibits will be removed from cold store to Showground in readiness for judging.

Unclaimed Exhibits.

All exhibits inclaimed on Wednesday, 31st March, will be sent to an agent and sold; the proceeds, less expenses, will be forwarded

SCALE OF POINTS FOR JUDGING.

20

TOTAL

Show Animals covered for 14 days, including Transit to and from Farm. INSURANCE CO., LTD. Office on Ground. Essentially the Farmers' Office.

Class 1 - Continuous Grading Class for Batter (Local Consumption).

COMPETITOIS.	Ioxes	MARCH. Grading Points	Average		Orading Points	Averege	Boxes	MAY. Grading Points	Average	boxes	JUNE. Grading Points	Average	Boxes	JULY. Grading Points	Averege.	lores	ATCUST. Gracing Feints	average
Albury District Rural	-	-	-	-	-	-	-	-	2	-	-	-	-	-	-	-	-	-
co-op. Society, Lto.																		
Bega Co-op. Society, Ltd.	2712	252,216	93	21.59	200,78	93	1130	105,090	93	1403	130,479	93	1882	175,026	93	478	14,404	93
Bewraville Co-of. 3001ecy,												_						
Good no Co. o. Dodawa	1563	145,244	92.93	587	A,59	1 93	~~		-	255	23,808	93	308	56,544	93	374	30,642	93
Casino Co-op. Dairy Society, Ltd.	33 86	71 4 670	92.92	71.06	900 71	0.7	2764	057 050	0.7	1.71.0	100 EE/	0.5	goeg.	007 000		- 1-		
Comboyne Rure I Co-o;	3300	314,63 8	92.96	3126	290,71	8 93	2764	257,052	2 93	1318	122,574	93	3053	283,929	93	835	8 3 , 043	93
Society. Lta.	1107	102,951	93	691	61 26'	3 93												
Derrigo Co-op. Mairy Jo. Ltd.		245, 985	93	2151	64,26		1 400	170.047	- 03	050	00.105	-	COM	50.731	-	-	-	-
Poley Bros. Pty. Lt.,	1.013	245, 305	30	2131	200,04	3 93	1422	132,246	93	959	89,187	93	527	58,311	93	- ≥80	44,60	93
Sout's ate.	1186	110,298	93	1109	102,63	7 92.54	584	54,312	93	581	54,033	93	567	52,731	07			
Follow Bross Pty. Ltc.,	1200	120,500		2200	100,00	75,01	501	01,011	, ,,	301	0.2,000	30	307	32, 101	93	-	-	-
Mullunhimoy.	2470	211,110	93	1872	174,09	6 93	1141	106,113	93	1609	149,637	93	1989	184,977	93	¥47°	7.70 00	0.5
Polay Bros. Py. Ltd.,		,		20.2	2.0,00		*	200,220	, , ,	2000	210,00	30	1000	101,011	30	14.5 A	156,890	98
Lismo: 3.	68 50	636,905	92.98	51.95	483,13	5 93	4275	396,973	92.85	3925	365,025	93	3550	330,150	93	2827	262 011	OF
Gloucister Dairy Co.Ltd.	2856	265,608	93	1342	124,91		367	34,131		226	21,083	93.29	_	-	50	2021	367,911	9£
Grafton Dairy Jo. Ttd.	3721	342,297	91.99	1524	141,73		1612	149,916		1318	112,574	93	574	53,382	93		-	-
Macley River Co-op.					•						,		1	,	20	-	_	-
Deirying Co., Ltd.	995	92,535	93	2473	229,82	2 92.93	614	57,102	93	1417	131,781	93	932	86,676	93	f 25	38,125	07
Norco Co-op.Ltd. 1stonvil	æ 3106	286,332	92.19	2437	226,641		1011	94,023		942	87,606	93	1666	154,938	93	731	•	93
Morco Co-op. Ltd., Tinns															30	101	67,093	93
Lurra.	1784	164,750	9235	782	72,726	93	917	85,281	. 93	1726	160,293	92.87	1282	118,905	92.75	1382	113,606	93
Noreo Co-op.L+ Byron Fay	4040	375,136	92.86	2746	255,378	93	2741	254,913		1448	134,664	93	1498	139,314	93	947	• -	
Norco Co-or .Ltd., Coraki	1776	164, 781	92.78	349	31,759		-	-	-	-	-	-	873	81,189	93	533	38,071	93
Norco Co-op. Lta., Lyogle	3151	293,043	93	2616	243,288		1781	165,633	93	2019	187,767	93	1916	178,188	93	1142	48,569	93
Norco Co-on.Ltc., Til amore	8Q76	750,000	92.87	4779	444,44		4309	400,737	93	3718	345,774	93	4231	393,483	93	4253	106,206	93
Norco Co-op.Ltd.,															30	4220	799, 14	93
Acres 11 andah.	2681	248,216	92.58	819	76,169	93	1245	115,785	93	510	47,267	92.87	592	64,356	93			
Norce Co-cp.Ltc., Tinbin	2275	211,042	92.77	31 3	75,984		615	57,195		25 5	23,715	93	919	35,467	92	116	70.600	07
Peters Greameries Pty.,															-	FTO	3 8,638	93
Ltd., Talse.	2108	195,346	92.67	2115	196,087	7 92.71	2297	213,621	93	1767	164,331	93	864	80,652	92	731	73,170	92.50
																131	10,110	32.30

JULY. Grading Points	Averege.		ATCJST. Gracing Feints	Average		EPTEMBER Grading Points	Average.	Boxes	OCTOBER Grading A Points	verage.	Boxes	NOVEMBER Grading Points	Average.		DECEMBER. Crading Points	Average.	Boxes	J.NUARY. Frading Points	averege.	FEBR Poxes
-	-		-	-	7 35	68,355	93	1437	133,641	93	417	38,781	93	390	36,270	93	350	32 , 5 50	93	-
175,026	93	478	14,454	93	_	-	-	1762	163,866	93	1026	95,418	93	1178	109,554	93	2391	222,363	95	2014
56,544	93	374	36,643	93	299	27,807	93	1326	123,318	93	983	91,419	93	2444	227,292	93	2047	190,371	63	425
283,929	93	835	83,043	93	1529	142,137	93	4698	437,959	93.22	3525	329,574	93.50	2382	222,525	93.42	3234	301,121	33.14	73 6 3
58,311	93	- -±80	- 44,640	93	391 307	36,363 28,551	93 93	1072	99,696 102,951	93 93	50 7 1583	47,151 147,219	93 93	58 7 22 7 0	54,591 211,110	93 93	1696 421 7	157,728 391,937	93 91.94	1278 2817
52,731	93	-	-	-	-	-	_	507	47,151	93	792	73,555	92.87	2620	243,660	93	2014	186,657	03.6 8	1694
184,977	93	₩27°	136,890	92	1076	100,068	93	2 7 35	259,005	93	2475	230,175	93	1819	169,167	93	1217	114,398	94	43 8
330,150 53,382	93 - 95	2827	367,911	95	26 7 0 - 602	248,310 - 55,330	93 - 91.91	4718 1422 1955	438,774 132,246 183,308	93 93 93.28	7267 1613 1473	675,831 150,009 136,624	93 93 92 .7 5	5011 288 7 19 7 1	470,142 268,314 183,303	93.82 92.94 93	2269 4986 2928	211,017 452,196 273,304	93 92. 7 0 93	1035 1093 3110
86, 676 154,938	93 93	f 25 731	38,125 67,093	93 93	513 522	4 7,7 09 48,488	93 92.89	1907 707	177,351 65,751	93 93	98 3 663	91,41 9 61,659	93 93	1886 7 60	175,398 70,680	93 9 3	2442	227,106	93	18 91
118,905 139,314 81,189 173,188 393,483	92.75 93 93 93	1222 947 533 1142	113,646 38,771 41,569 106,206 799,14	93 93 93	1028 1279 531 1395 3697	95,604 118,947 49,383 129,735 343,821	93 93 93 93 93	1375 2037 576 414 3557	127,875 189,441 53,568 38,502 330,801	93 93 93 93 93	2929 2629 973 1569 5160	272,397 244,49 V 90,489 145,917 479,380	93	148 7 2148 491 1068 5630	138,095 199,764 45,567 93,768 524,307	92.87 93 92.80 92.48 93.13	2807 1774 6654	261,051 164,982 613,822	93 - 93 93	3735 - 613 4185
64,356 35,467	9! 93	11.5	~ ~ 38,638	- 93	- 585	54,405	- 93	2426 549	225,533 51,057	9 29 6 9 3	212	- 19,716	93	134 8 409	125,364 38,03 7	93 93	3731 1011	346,629 93,949	97.91	3133 409
80,652	92	731	72,170	92.50	508	47,244	93	363	33,674	92.75	-	-	-	719	66,857	93	4164	386,641	\$2,95	2 8 3 5

J.NUARY. Frading Points	hverese.		Crading Points	Average.	A GGREGAT TOTAL BOXES	E MONTHS TOTAL CRADING POINTS	AVERAGE	AWARDS.		
3 3 , 5 50	93	1004	•	-						
222,363	95	2014	187,302	93						
190,371	েব	425	39,525	93						
301,121	33.14	73 6 3	687,697	93.40	37,271	3,473,033	93.18	1ST.		
157,728	93	1278	118,854	93						
391,937	9 94	2817	•	93	20,585	1,914,161	92.993			
186,657	03.6 8	1694	157,542	93						
114,398	94	4 3 8	40,622	92.74	20,163	1,876,264	93.05	3RD.		
211,017	93	1035	96 ,25 5	93	49,592	4,615,428	93.07	2ND.	-	
462,19€	92. 70	1093		93						
273,304	93	3110	288,736	92.84						
227,106	93	18 91	175,863	93	16,678	1,550,887	92.989			
-	-	-	-	-						
-	-	-	-	-						
261,051	93	3735	347,229	92.97	28,055	2,608,405	92.97	-		
-	-	-	-	-						
164,982	93	613	57,009	93	19,458	1,809,038	92.97			
613,822	93	4185	389,205	93	58,294	5,420,991	92.994	4TH.		
346,629	90.91	3133	290,847	92.83						
93,949	92.55	409	38,037	93	8473	787,292	92.91			
386,641	\$2.95	2835	263,655	93		,				

ROYAL ACRICULTURAL SOCIETY OF NEW SOUTH WALES. ROYAL EASTER SHOW, 1948.

Class 10 - Continuous Grading Class for Cheese.

COMPATITOR.	NOVEMBER. POINTS UNITS.			DECEMBER POINTS UNITS		JANUERY POINTS UNITS		FEBRUARY POINTS UNITS		TOTAL UNIT3	AVERAGE	AWARD.
Derrigo Co-op. Lairy Co. Ltd.		-		-	_		4		-	-	-	
Erinna Co-op. Choese Society Ltd.	90,90, 91,92	4	86,90, 91,91	4	86,91, 91,91, 92,92	6	-					
Giora Dairy Ectory Jtd.		-	86,86 86,88	4	-		+					
Macleay River To-op. Dairy Co., Itd.		-		-	*		-					
Norco Co-op. Ltc.	90,91,91, 91,92,92	6	90,91,91, 92,92	5	90,90, 91,91,92	5	90,90, 91,91	. 4	1819	20	90.95	2ND.
Gingleton Central C>-op. Dairy Co. Ltd.	91,91,91, 92,92	5	91,92,92, 92,93,93	6	90,91,92, 92,92,93, 93,93.	8	91,91,91, 91,92,92, 93,93,93,93	10	26 66	29	91.93	157.
Filba Tilba Co-pp. Chaese Society Ltd.	87,92, 92,92	4	91,91,91, 92,92,93	6	91,91, 92,93	4	87,87,88, 92,92	5	1726	19	90.84	3RD.
lanagabuira Cheese Factory	90,90, 91,92	4	-		87,87,87, 87,92	5	-					

Sec. 11-DAIRY PRODUCE (Continued).

60. Cobargo District Co-op. Creamery Co., Ltd. 100. Gloucester Dairy Co., Ltd. Coff's Harbour Co-op. Dairying and Refrigeration Society, Ltd.

Dorrigo Co-op. Dairy Co., Ltd. Downs Co-op. Dairy Assoc., Ltd. (Clifton, Q'ld.). Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest,

Downs Co-op. Dairy Assoc., Ltd. (Dalby, Qld.). Downs Co-op. Dairy Assoc., Ltd. (Goombungee,

67. Downs Co-op. Dairy Assoc., Ltd. (Jandowse,

Downs Co-op. Dairy Assoc., Ltd. (Toowoomba,

Dungog Co-op. Butter Factory, Ltd. Foley Bros. Pty., Ltd. (Lismore).

Foley Bros. Pty., Ltd. (Mullumbimby).

Foley Bros. Pty., Ltd. (Southgate). Gloucester Dairy Co., Ltd.

73. Grafton Dairy Co., Ltd. 74.

Macleay River Co-op. Dairying Co., Ltd. 75. Manning River Co-op. Dairy Society, Ltd.

Nambucca Co-op. Society, Ltd. Norco Co-op., Ltd. (Byron Bay).

Norco Co-op., Ltd. (Kyogle). Norco Co-op., Ltd. (Lismore).

Norco Co-op., Ltd. (Murwillumbah). Norco Co-op., Ltd. (Nimbin). 81. 82.

Pambula Co-op. Creamery and Dairy Co., Ltd.

Raleigh Co-op. Butter Society, Ltd. Singleton Central Co-op. Dairy Co., Ltd.

Tumut Co-op. Dairy Co., Ltd.
 Upper Macleay Co-op. Dairy Co., Ltd.

CLASS 4 (Special Prize) £10 10s., presented by THE AUSTRALIAN PRODUCERS' WHOLE-SALE CO-OPERATIVE FEDERATION PTY., LTD., DOMINION CHAMBERS, 59 WIL-LIAM-ST., MELBOURNE. Butter, 1 package, 56lb. salted. Open to all N.S.W. factories; to be selected from ordinary export consignments at port of shipment, Sydney and Newcastle, during March, and placed in cold store. Such butter to be selected by a Federal grader at port of shipment and taken from the consignment submitted for export. Where a factory is not exporting butter during the month of March the box may be picked up from its ordinary consignments. Exhibits in this class will be reboxed by the Society in plain boxes and uniformly finished.

Bega Co-op. Society, Ltd.

Bellinger River Co-op. Butter and Bacon Society, Ltd.

Bowraville Co-op. Society, Ltd.

Casino Co-op. Dairy Society, Ltd. Clarence River Pioneer Co-op. Dairying Co.,

Cobargo District Co-op. Creamery Co., Ltd.
 Coff's Harbour Co-op. Dairying and Refrigera-

tion Society, Ltd. Dorrigo Co-op. Dairy Co., Ltd.

Dungog Co-op. Butter Factory, Ltd. Foley Bros. Pty., Ltd. (Lismore).

Foley Bros. Pty., Ltd. (Mullumbimby).

Foley Bros. Pty., Ltd. (Southgate).

101. Grafton Dairy Co., Ltd. Macleay River Co-op. Dairying Co., Ltd.

Manning River Co-op. Dairy Society, Ltd.

Nambucca Co-op. Society, Ltd. Norco Co-op., Ltd. (Byron Bay). Norco Co-op., Ltd. (Kyogle).

107. Norce Co-op., Ltd. (Lismore). Norco Co-op., Ltd. (Murwillumbah).

Norco Co-op., Ltd. (Nimbin).

110. Pambula Co-op. Creamery and Dairy Co., Ltd.111. Raleigh Co-op. Butter Society, Ltd.

112. Singleton Central Co.op. Dairy Co., Ltd. 113. Tumut Co-op. Dairy Co., Ltd.

114. Upper Macleay Co-op. Dairy Co., Ltd.

BUTTER-MAKERS' COMPETITION.

CLASS 5 (Special Prizes) First prize, £5; second prize, £3 : third prize, £1 10s. ; for the maker of the best box of butter, not less than 56lb. A separate exhibit to be provided for this competition. The entry to be in the name of the maker of the butter; the name of the factory to which the competitor is maker to be stated on certificate of entry; the name of the factory shall not be published until after judging. Exhibits to be in cold store by Friday, 5th March.

132. Miles, F. 115. Arthur, A. 116. Baker, R. 133. Perrington, A. 134. Pigott, F. Barron, V. 117. Robson, G. 135. Best, L. R. 118. 136. Rodd, J. F. Blain, E. 119. 137. Sever, L. D. Brett, T. 138. Smith J. 121. Brown J. 139. Stagg, N. Callaghan, A. 122. Sugars, M. 140. Dare, L. Thompson, C. B. Dougherty, J 141. 124. 142. Vidler, I. East, C. Von Sturmer, J Flarrety, A. E. 126. 143. Wheeldon, J. H. Geraghty, M. 144. 127 Wilson, G. D. 145. 128. Gilmore, S. L. 146. Wilson, K. A. 129. Hart. J. (c/o. Turnut Kermode, R. A. 147. Co-op. Dairy Co., 131, McDonald, T. H. Ltd.)

CLASS 6 PRINT BUTTER, one box containing 54lb. prints of salted butter. To be printed and packed at the factory and wrapped in special wrappers supplied by the Society. Wrappers will be forwarded to each factory immediately on receipt of entry. The top layer of each box to be laid flat with the printed side of wrappers uppermost. Exhibits to be in cold store not later than friday, 12th March, ten days prior to the opening date of the Show. First prize, £4: second prize, £2 10s.; third prize, £1.

148. -Bega Co-op. Society, Ltd.

149. - Bellinger River Co-op. Butter and Bacon Society. Ltd.

150. Bowraville Co-op. Society, Ltd.

151.—Casino Co-op. Dairy Society, Ltd. 152. Clarence River Pioneer Co-op. Dairying Co.,

YORKSHIRE INSURANCE CO., LTD.—All Classes of Insurance Effected. Fire, Workers' Compensation, Crops, Fencing, etc. Yorkshire House, 14 Spring St., Sydney.

Visit COLES Variety Stores

Sec. 11-DAIRY PRODUCE (Continued).

153. Cobargo District Co-op. Creamery Co., Ltc	1
154. Coff's Harbour Co-op. Dairying and Refrig	POPO .
tion Society Ltd.	C. I.C.
155. Dorrigo Co-op. Dairy Co., Ltd.	
156. Dungog Co-op. Butter Factory, Ltd.	
157. Gloucester Dairy Co., Ltd	J.
158. Grafton Dairy Co., Ltd.	
159. Macleay River Co-op. Dairying Co., Ltd.	
160. Manning River Co-op. Dairy Society, Lt	d
161Nambucca Co.op. Society, Ltd.	
162. Norco Co-op., Ltd. (Byron Bay).	
163. Norco Cc.op., Ltd. (Kyogle).	on
164. Norco Co-op., Ltd. (Lismore).	in
165. Norco Co-op., Ltd. (Murwillumbah).	
166. Norco Co-op., Ltd. (Nimbin).	
187. Pambula Co-op. Creamery and Dairy Co.,	fol
168. Raleigh Co-op. Butter Society, Ltd.	Ditti.
169. Singleton Central Co-op. Dairy Co., Ltd.	
170. Tumut Co-op. Dairy Co., Ltd.	
171Upper Macleay Co-op. Dairy Co., Ltd.	
CLASS 7 Butter 1 package not less than a	
CLASS 7 Butter, 1 package, not less than 5 Manufactured for local consumption.	BID.
nrize 64 second prize 60 400	rirst
prize, £4; second prize, £2 10s.; t	nira
172. Bega Co-op. Society, Ltd.	
173. Bellinger River Co-op. Butter and Ba	
Society, Ltd.	con

174. Bowraville Co-op. Society, Ltd. 175. Casino Co-op. Dairy Society, Ltd.

176. Clarence River Pioneer Co-op. Dairying Co.,

177. Cobargo District Co-op. Creamery Co., Ltd. Coff's Harbour Co-op. Dairying and Refrigeration Society, Ltd.

Dorrigo Co-op. Dairy Co., Ltd.

180. 3 Downs Co-op. Dairy Assoc., Ltd. (Clifton, Q'ld.). 181. Downs Co-op. Dairy Assoc., Ltd. (Crow's Nest,

182. Downs Co-op. Dairy Assoc., Ltd. (Dalby, Q'ld.). Downs Co-op. Dairy Assoc., Ltd. (Goombungee, Q'ld.).

Downs Co-op. Dairy Assoc., Ltd. (Jandowae, O'ld.). Downs Co-op. Dairy Assoc., Ltd. (Toowoomba,

Q'ld.). 186 Dungog Co-op. Butter Factory, Ltd.

187. Gloucester Dairy Co., Ltd. 188. Grafton Dairy Co., Ltd.

189. Maeleay River Co-op. Dairying Co., Ltd.

Manning River Co-op. Dairy Society, Ltd. 191. Nambucca Co-op. Society, Ltd. 192.2 Norco Co-op., Ltd. (Byron Bay).

193. Norco Co-op., Ltd. (Kyogle). Noreo Co-op., Ltd. (Lismore). Noreo Co-op., Ltd. (Murwillumbah).

Norco Co-op., Ltd. (Nimbin).

197. Painbula Co-op. Creamery and Dairy Co., Ltd. Raleigh Co-op. Butter Society, Ltd.

Singleton Central Co-op. Dairy Co., Ltd.
 Tumut Co-op. Dairy Co., Ltd.
 Upper Macleay Co-op. Dairy Co., Ltd.

16MORE

559.744

Special Prize—£5 5s., presented by the PRODUCERS'
CO-OPERATIVE DISTRIBUTING SOCIETY, CCCCOOP. LTD., VALENTINE AND QUAY-STS., SYD-NEY, for the factory securing the greatest aggregate number of points in all classes, and special prizes for butter, provided that

the mean average of the Continuous Grading Class be included instead of the aggregate.

CHEESE.

Judge :		S	Stewards :					
J. T. Dickson,	E.	T	. 1	₹.	Ballard			
Dairy Branch,	J.	D.	L.	M	eGibbon .			
Department of Agriculture, N.S.W., Sydney.	A.	В.	She	elte	on			

One or more entries may be made by exhibitors but y one prize to be awarded to individual exhibitors inv one class.

udging to commence on Tuesday, 23rd March. Exhibits in cheese classes must conform to the

(a) Each cheese shall be rimless.

(b) Each Cheddar cheese other than Loaf, shall weigh approximately 80lb, or 40lb,

(e) The height of an 80lb, and 40lb, cheese shall be approximately 121 and 61 inches respec-

(d) Cheese shall have a diameter of approximately 7 inches for 10lb, loaf; 7.7/8 inches for 14lb. loaf; 131 inches or 141 inches for 40lb, cheese.

SCALE OF POINTS FOR JUDGING

	O11 00	DOING		
				ints.
FLAVOUR: Mild and rich				50
TEXTURE AND COLOUR:	Firm, e	lose ter	cture	
and clear, bright colour				30
FINISH: Should be neat, attr	ractive i	and of c	elean	
commercial appearance	***			20
Total				100

The brands on all exhibits will be covered with paper or cloth. All exhibits must be in position not later than 5 p.m. on Monday, 22nd March. Exhibits will be delivered at 5 p.m. on Wednesday, 31st March.

Each factory must supply agent with delivery order to obtain cheese.

CLASS & Continuous Grading Class for Cheese (Special Prizes) £18 10s., viz.: First prize, £7 10s.; second prize, £4; third prize, £2. A Medal or Trophy will be presented to the maker of the first prize cheese and a Silver Medal each to the makers of the second and third prize cheese CONDITIONS.

1. The Grading Period will extend from 1st November, 1947, to 28th February, 1948, and for the month of February one cheese may be taken for exhibition at the Show.

2. The official grading by the State Officers (and in any districts where the consignment of cheese is sold) of all factories entered for this competition will be taken each month for the full period and results taken by working out the actual average over such period.

3. At least four gradings, representing different consignments, each consisting of at least 10 cheeses. must be recorded each month to enable a competitor to qualify for the prizes, provided that any competitor not having any cheese graded as prescribed will not be eligible for a prize.

4. The exhibits gaining the highest actual average will be awarded the prizes.

All the Best Animals are Insured with the YORKSHIRE INSURANCE CO., LTD. -Office on the Ground. Claims paid by the Company exceed £56,000,000.

Sec. 11-DAIRY PRODUCE (Continued).

- 202. Dorrigo Co-op. Dairy Co., Ltd. Erinna Co-op. Cheese Society, Ltd.
- Kiora Dairy Factory, Ltd.
- Macleay River Co-op. Dairying Co., Ltd. Norco Co-op., Ltd. (Dunoon).
- Singleton Central Co-op. Dairy Co., Ltd.
- Tilba Tilba Co-op. Cheese Society, Ltd.
- Warragaburra Cheese Factory.

CLASS 9 Two Cheeses, matured, LOAF. First prize, £3 10s.; second prize, £2 10s.; third prize, £1 10s.

- 210. Buckajo Cheese Factory.
- 211. Dorrigo Co-op. Dairy Co., Ltd.
- 212. Erinna Co-op. Cheese Society, Ltd.
- Kiora Dairy Factory, Ltd.
- 214. Macleay River Co-op. Dairying Co., Ltd. 215. Manning River Co-op. Dairy Society, Ltd.
- 216. Norco Co-op., Ltd. (Dunoon).
- 217.2 Singleton Central Co-op. Dairy Co., Ltd.
- 218. Tilba Tilba Co-op, Cheese Society, Ltd.
- 219. Warragaburra Cheese Factory.

£2 10s.; third prize, £1 10s.

- 220. 2 Buckajo Cheese Factory.
- 221. Dorrigo Co-op. Dairy Co., Ltd.
- 222. Erinna Co-op. Cheese Society, Ltd. 223. Kiora Dairy Factory, Ltd.
- Macleay River Co-op. Dairying Co., Ltd. 225. Manning River Co-op. Dairy Society, Ltd.
- 226. Norco Co-op., Ltd. (Dunoon).
- 227.1 Singleton Central Co-op. Dairy Co., Ltd.
- 228. Tilba Tilba Co-op. Cheese Society, Ltd.
- 229. Warragaburra Cheese Factory.

CLASS 11 Two Cheeses, LARGE, 40lb. or over, not more than 6 weeks old. First prize, £3 10s.; second prize, £2 10s.; third prize, £1 10s.

- 230.7 Buckajo Cheese Factory.
- 231. Dorrigo Co-op. Dairy Co., Ltd. 232. Erinna Co-op. Cheese Society, Ltd.
- Kiora Dairy Factory, Ltd.
- 234. Macleay River Co-op. Dairying Co., Ltd.235. Manning River Co-op. Dairy Society, Ltd.
- 236. Norco Co-p., Ltd (Dunoon).
- 237. Singleton Central Co-op. Dairy Co., Ltd. 238. Tilba Tilba Co-op. Cheese Society, Ltd.
- 239. Warragaburra Cheese Factory.

CLASS 12 Two Cheeses, LOAF, not more than 6 weeks old. First prize, £3 10s.; second

- prize, £2 10s.; third prize, £1 10s. 240.] Buckajo Cheese Factory.
- 241. Dorrigo Co-op. Dairy Co., Ltd.
- 242. Erinna Co-op. Cheese Society, Ltd.
- Kiora Dairy Factory, Ltd.
- Macleay River Co-op. Dairying Co., Ltd.
- 245. Manning River Co-op. Dairy Society, Ltd. 246. Norco Co-op., Ltd. (Dunoon).
- 247. Singleton Central Co-op. Dairy Co., Ltd.
- 248. Tilba Tilba Co-op. Cheese Society, Ltd.
- 249. Warragaburra Cheese Factory.

CLASS 13 Two Cheeses, any one variety, other than Cheddar. First prize, £2 10s.; second prize, £1 10s.: third prize, £1.

- 250. Buckajo Cheese Factory.
- Dorrigo Co-op. Dairy Co., Ltd. Erinna Co-op. Cheese Society, Ltd.
- Kiora Dairy Factory, Ltd. 253
- 254. Macleay River Co-op. Dairying Co., Ltd.
- Manning River Co op. Dairy Society, Ltd. Singleton Central Co-op. Dairy Co., Ltd. 256
- Tilba Tilba Co-op, Cheese Society, Ltd.
- 258. Warragaburra Cheese Factory.

MEDAL OR TROPHY FOR CHEESE MAKER.

Special Prize Medal or Trophy, value £5 5s., for the maker of the cheese exhibited by the most successful exhibitor.

The most successful exhibitor to be determined as follows, viz.: Only exhibitors with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries CLASS 10 Two Cheeses, matured, LARGE, 40lb. or shall be added the following over. First prize, £3 10s.: second prize each first prize, two for second, and one for third; the exhibitor gaining the highest result shall be the winner. In the case of a maker who exhibits in the names of two or more factories, each factory will be regarded as a separate and distinct exhibitor.

HAMS, BACON, AND LARD.

Stewards: Judge: M. F. Russell W. Howitt. Valentine and Quay-sts., G. H. Simpson

One or more entries may be made by exhibitors in each class but only one prize to be awarded to individual exhibitors in any one class.

ALL EXHIBITS TO BE UNBRANDED (GOVERN-MENT BRANDS EXCEPTED: AND IN UNBRANDED WRAPPERS, and must be in position not later than 5 p.m. on Monday, 22nd March. Exhibits will not be received after this date. Exhibits will be cut not more than 24 hours before judging.

Exhibits will be delivered during the afternoon on Wednesday, 31st March. Each factory must supply agents with delivery order to obtain exhibits.

No exhibit to be scraped or trimined in any way whilst in the possession of the Society except with the written approval of the Secretary; any violation of this rule will disqualify the exhibit.

All exhibits in the Hams and Bacon Classes must have been cured by and on the premises of the factory making the entry.

SCALE OF POINTS FOR JUDGING. HAMS AND BACON.

- Points. FLAVOUR: Should be sweet and mild COLOUR: Should be natural and even through-
- PROPORTION OF FAT AND LEAN: Should be nicely mixed, with lean predominating 20

LIVESTOCK INSURANCE.—Claims paid promptly on Proof of Death.—YORKSHIRE INSURANCE CO., LTD., 14 Spring St., Sydney. The Farmers' Company.

Visit COLES Variety Stores

Sec. 11-DAIRY PRODUCE (Continued).

- TEXTURE AND FIRMNESS: Should be fine in grain and firm for cutting CONFORMATION: Shoulders should be fine in bone. Middles should be lengthy and straight in lines. Hams should be plump and fine in bone ... FINISH: Should be smooth, bright, and neatly
- cut, with smoking not too dark ... 10

Total 100

LARD.

FLAVOUR						Po	ints
FLAVOUR				***			41
COLOUR	• • •	***		er.	***	***	28
TEXTURE		• • •	***		444	1946	25
FINISH AN	D AF	PEAF	RANCE	100	254	1445	10
	Total	***	***	144	***	-	100

- CLASS 14 Hams, two, factory cured and smoked. MEDAL OR TROPHY FOR BACON CURER. First prize, £3; second prize, £2; third prize, Special Prize Medal or Trophy, value £5 5s., for
- 259 Clarence River Pioneer Co-op. Dairying Co.,
- 260, / Dorrigo Co.op. Dairy Co., Ltd. 261 Norco Co-op., Ltd. (Byron Bay).
- CLASS 15 Bacon, two sides, factory cured and smoked. First prize, £2 10s.; second prize,
- £1 10s.; third prize, £1. 262. Plarence River Pioneer Co-op. Dairying Co.,
- 263. Dorrigo Co-op. Dairy Co., Ltd.
- 264. Norco Co-op., Ltd. (Byron Bay).

- CLASS 16 Bacon, two flitches, factory cured and smoked. First prize, £2 10s.; second prize, £1 10s.; third prize, £1.
- 265 Clarence River Pioneer Co-op. Dairying Co.,
- 266 Dorrigo Co-op. Dairy Co., Ltd. 267. Norco Co-op., Ltd. (Byron Bay).
- CLASS 17 Lard, 56lb. box. First prize, £2; second prize, £1 10s.; third prize, £1. 268 Clarence River Pioneer Co-op. Dairying Co.,
- 269. Norco Co-op., Ltd. (Byron Bay).
- CLASS 18 Collection, viz.: Two each, Hams, Sides of Bacon, Flitches of Bacon, and Middles of Bacon. To be judged on a maximum number of 400 points. First prize, £5: second prize, £3: third prize, £1 10s. Special entries to be made for this class, and no exhibit in other classes will be allowed to compete.
- 270. Dorrigo Co-op. Dairy Co., Ltd. 271. Norco Co-op., Ltd. (Byron Bay).

the curer of the bacon exhibited by the most successful exhibitor in Classes 14, 15, and 18.

The most successful exhibitor to be determined as follows, viz.: Only exhibitors with three or more exhibits shall be considered for this prize. The total number of points awarded to each exhibit by the Judge shall be divided by the total number of entries made by the exhibitor, and to the result obtained shall be added the following points, viz.: Three for each first prize, two for each second, and one for each third; the exhibitor gaining the highest results shall be the winner. In the case of a curer who exhibits in the name of two or more factories, each factory will be regarded as a separate and distinct

INDEX TO EXHIBITORS.

Section 11—DAIRY PRODUCE.

ALBURY DISTRICT RURAL CO-OP, SOCIETY, LTD., Albury, N.S.W., I.

Arthur, A., c/o. Norco Co-op., Ltd., Dunoon, N.S.W.,

BAKER, R., e. o. Downs Co-op. Dairy Assoc. Ltd., Buckajo Cheese Factory, Bega, N.S.W., 210, 220, 230,

Barron, V., e/o. Downs Co-op. Dairy Assoc., Ltd., Toowoomba, Qld., 117. Bega Co-op. Society, Ltd., Bega, N.S.W., 2, 22, 55,

88, 148, 172. Bellinger River Co-op. Butter and Bacon Society, Ltd.,

Bellingen, N.S.W., 23, 56, 89, 149, 173. Best, L. R., e o. Pambula Co-op. Creamery and Dairy Co., Ltd., Pambula, N.S.W., 118.

Blain, E., c.o. Downs Co-op. Dairy Assoc., Ltd., Cobargo District Co-op. Creamery Co., Ltd., Cobargo,

Bowraville Co-op. Society, Ltd., Bowraville, N.S.W., 3, 24, 57, 90, 150, 174.

Brett, T., c/o. Macleay River Co-op. Dairying Co., Ltd., Kempsey, N.S.W., 120.

Brown, J., e/o. Grafton Dairy Co., Ltd., Grafton, N.S.W., 121.

240, 250, CALLAGHAN, A., c/o. Casino Co-op. Dairy Society,

Ltd., P.O. Box 22, Casino, N.S.W., 122. Casino Co-op. Dairy Society, Ltd., P.O. Box 22, Casino, N.S.W., 4, 25, 58, 91, 151, 175.

Clarence River Pioneer Co-op. Dairying Co., Ltd., Ulmarra, N.S.W., 26, 59, 92, 152, 176, 259, 262, 265, 268,

N.S.W., 27, 60, 93, 153, 177.

LIVE STOCK INSURANCE—Transit Sea or Rail — Any Part of the World — YORK-SHIRE INSURANCE CO., LTD.

INDEX TO EXHIBITORS-Sec. 11-Dairy Produce.

Coff's Harbour Co-op. Dairying and Refrigeration 28, 61, 94, 154, 178.

Comboyne Rural Co-op. Society, Ltd., Comboyne, N.S.W., 5.

DARE, L., c/o. Norco Co-op. Ltd., Murwillumbah. N.S.W., 123.

Dorrigo Co-op. Dairy Co., Ltd., Dorrigo, N.S.W., 6, 29, 62, 95, 155, 179, 202, 211, 221, 231, 241. 251, 260, 263, 266, 270.

Dougherty, J., c/o. Foley Bros. Pty. Ltd., Lower Southgate, N.S.W., 124.

Downs Co-op. Dairy Assoc., Ltd., Clifton, Q'ld., 30, 63, 180.

Downs Co-op. Dairy Assoc., Ltd., Crow's Nest, Q'ld., 31, 64, 181.

Downs Co-op. Dairy Assoc., Ltd., Dalby, Q'ld., 32, 65, 182.

Downs Co-op. Dairy Assoc., Ltd., Goombungee, Qld., 33, 66, 183.

Downs Co-op. Dairy Assoc., Ltd., Jandowae, Q'ld., 34, 67, 184.

Downs Co-op. Dairy Assoc., Ltd., Toowoomba, Q'ld., 35, 68, 185.

Dungog Co-op. Butter Factory, Ltd., Dungog, N.S.W., 36, 69, 96, 156, 186.

EAST, C., e/o., Foley Bros. Pty. Ltd., Mullumbimby, N.S.W., 125.

Erinna Co-op. Cheese Society, Ltd., P.O. Box 3, Stony Creek, Bega, N.S.W., 203, 212, 222, 232, 242, 252.

FLARRETY, A. E., c o. Nambucca Co-op. Society, Ltd., Macksville, N.S.W., 126. Foley Bros. Pty., Ltd., P.O. Box 93, Lismore, N.S.W.,

7, 37, 70, 97. Foley Bros. Pty., Ltd., P.O. Box 53, Mullumbimby,

N.S.W., 8, 38, 71, 98. Foley Bros. Pty., Ltd., Lower Southgate, N.S.W., 9, 39, 72, 99.

GERACHTY, M., c/o. Downs Co-op. Dairy Assoc., Ltd., Goombungee, Q'ld., 127.

Gilmore, S. L., c/o. Norco Co-op. Ltd., Byron Bay, N.S.W., 128.

Gloucester Dairy Co., Ltd., Gloucester, N.S.W., 10, 40, 73, 100, 157, 187.

Grafton Dairy Co., Ltd., Grafton, N.S.W., 11, 41, 74, 101, 158, 188.

HART, J., e/o. Clarence River Pioneer Co-op. Dairying Co., Ulmarra, N.S.W., 129.

KERMODE, R. A., c/o. Coff's Harbour Co-op. Dairying and Refrigeration Society, Ltd., Coff's Harbour Jetty, N.S.W., 130.

Kiora Dairy Factory, Ltd., Moruya, N.S.W., 204, 213, 223, 233, 243, 253.

McDONALD, T. H., c/o. Dungog Co-op. Butter Factory, Ltd., Dungog, N.S.W., 131. Macleay River Co-op. Dairying Co., Ltd., Kempsey,

N.S.W., 12, 42, 75, 102, 159, 189, 205.

Manning River Co-op. Dairy Society, Ltd., Taree, N.S.W., 43, 76, 103, 160, 190, 215, 225, 235,

Miles, F., c/o. Raleigh Co-op. Rutter Society, Ltd., Raleigh, N.S.W., 132.

Society, Ltd., Coff's Harbour Jetty, N.S.W., NAMBUCCA CO-OP. SOCIETY, LTD., Macksville, N.S.W., 44, 77, 104, 161, 191.

Norco Co-op., Ltd., Alstonville, N.S.W., 13. Norco Co-op., Ltd., Binna Burra, N.S.W., 14.

Norco Co-op., Ltd., Byron Bay, N.S.W., 15, 45, 78, 105, 162, 192, 261, 264, 267, 269, 271. Norco Co-op., Ltd., Coraki, N.S.W., 16.

Norco Co-op., Ltd., Dunoon, N.S.W., 206, 216, 226, 236, 246,

Norco Co-op., Ltd., Kyogle, N.S.W., 17, 46, 79, 106, 163, 193.

Norco Co-op., Ltd., Lismore, N.S.W., 18, 47, 80, 107, 164, 194.

Norco Co-op., Ltd., Murwillumbah, N.S.W., 19, 48, 81, 108, 165, 195.

Norco Co-op., Ltd., Nimbin, N.S.W., 20, 49, 82, 109, 166, 196.

PAMBULA CO-OP. CREAMERY AND DAIRY CO., LTD., Pambula, N.S.W., 50, 83, 110,

Perrington, A., e/o. Bellinger River Co-op. Butter and Bacon Society, Ltd., Bellingen, N.S.W.,

Peters Creameries Pty., Ltd., Taree, N.S.W., 21. Pigott, F., c/o. Bowraville Co-op. Society, Ltd., Bowraville, N.S.W., 134.

RALEIGH CO-OP. BUTTER SOCIETY, LTD., Raleigh, N.S.W., 51, 84, 111, 168, 198.

Robson, G., c/o. Cobargo District Co-op. Creamery Co., Ltd., Cobargo, N.S.W., 135.

Rodd, J. F., c/o. Bega Co-op. Society, Ltd., Bega, N.S.W., 136.

SEVER, L. D., c/o. Singleton Central Co-op. Dairy Co., Ltd., P.O. Box 8, Singleton, N.S.W., 137. Singleton Central Co-op. Dairy Co. Ltd., P.O. Box 8,

Singleton, N.S.W., 52, 85, 112, 169, 199, 207, 217, 227, 237, 247, 256. Smith, J., c/o. Dorrigo Co-op. Dairy Co., Ltd., Dorrigo,

N.S.W., 138. Stagg, N., c/o. Downs Co-op. Dairy Assoc., Ltd., Clifton, Q'ld., 139.

Sugars, M., c/o. Downs Co-op. Dairy Assoc., Ltd., Crow's Nest, Q'ld., 140.

THOMPSON, C. B., c/o. Manning River Co-op. Dairy Tilba Tilba Co-op. Cheese Society, Ltd., Tilba Tilba Tilba,

N.S.W., 208, 218, 228, 238, 248, 257. Tumut Co-op. Dairy Co., Ltd., Tumut, N.S.W., 53,

86, 113, 170, 200.

UPPER MACLEAY CO-OP. DAIRY CO., LTD., Toorooka, N.S.W., 54, 87, 114, 171, 201.

VIDLER, I., c/o. Foley Bros. Pty., Ltd., P.O. Box 93, Lismore, N.S.W., 142.

Von Sturmer, J., c/o. Norco Co-op., Ltd., Lismore, N.S.W., 143.

WARRAGABURRA CHEESE FACTORY, Warragahurra, Bega, N.S.W., 209, 219, 229, 239,

Wheeldon, J. H., c/o. Upper Macleay Co-op. Dairy Co., Ltd., Toorooka, N.S.W., 144.

Wilson, G. D., c/o. Norco Co-op. Ltd., Kyogle, N.S.W.,

K. A., e/o. Gloucester Dairy Co., Ltd., Gloucester, N.S.W., 146.

Section 12—JUNIOR FARMERS

Committee :

E. A. Southee (Chairman) E. H. K. Downes

Hon. E. J. Eggins, M.L.C. J. H. Fairfax

Wheat:

R. S. Maynard C. Minter Lt.-Col. R. Morell

A. McCorquodale E. S. Playfair A. J. Tanner P. S. Willsallen

N. S. Shirlow.

Sydney.

C. G. Horth.

Honey and Beeswax:

H. Graham-Smith.

Pumpkins, Squashes, Grammas, Marrows, Melons,

Carrote, Swede Turnips, Tomatoes:

Cucumbers, Onions, Parsnips, Beetroot,

Richmond, N.S.W.

Department of Agriculture, N.S.W.,

Richmond, N.S.W.

Department of Agriculture, N.S.W.,

Jams, Jellies, Preserved Fruit, Preserved Vege-

Model of Agricultural Building or Appliance:

Hawkesbury Agricultural College,

Hawkesbury Agricultural College,

Judges :

G. Nicholson, Department of Agriculture, N.S.W.,

Maize: W. D. Kerle, Department of Agriculture, N.S.W.,

Sydney.

Hay: E. Breakwell,

74 Lord-st., Roseville, Sydney.

Collection of Dried Grasses and Clovers: E. Breakwell

Collection of Culinary Vegetables: (Sweet Corn, Potatoes, Sweet Potatoes).

A. C. Orman.

Department of Agriculture, N.S.W., Sydney. E. A. Southee (Chief)

A. McCorquodale (Wheat)

Sydney. Stewards !

H. A. Browne,

tables :

H. Matthews (Maize) E. J. Waring (Vegetables)

G. M. Blacklock (Honey, Beeswax, Jams, Jellies, P. Hindmarsh (Dried Grasses, etc). etc., Agricultural Model)

Exhibits in this section are confined to members of recognised Junior Farmers' Clubs.

The prize money, £80 10s., in this section, and £17 to the Society for wages, material, and freight expenses, has been donated by John Fairfax and Sons, Pty., Ltd., proprietors of the "Sydney Morning Herald," "The Home," and "Art in Australia."

Busfell 26 mls Four Trophies, value £5 5s. each, presented by John Pairfax and Sons, Pty., Ltd., proprietors of the Sydney Morning Herald,"
The Home," and "Art in Australia," one each for the girl and boy respectively attaining the highest aggregate points in the Junior Farmers' Section. Classes including Record Books will count. The prize shall be determined as follow. — Each first prize to count as three points; second as two; third as one; the exhibitor gaining the highest number of points to be the winner of each Trophy. Also for the winners of classes. — Ashield, Sydney, will be awaxied to the most successful exhibitor in Junior Farmer Wheat (lasses.

Exhibits to be staged in the Agricultural Hall.

1. Not more than one entry may be made in any one class.
2. Intending competitors should make their entries with the Secretary of the Advisory Committee. Secretaries should forward to the Supervisor or with their Junior Farmers' Club Secretary if there is no Advisory Committee. Secretaries should forward to the Supervisor for their District the names and addresses of all competitors, with particulars regarding the Class or Classes they wish to enter. Such information must reach Supervisors of the Pervary. Addresses of Supervisors: J. W. Webb, 141 Madelinest, Belmore; A. I. Nicod, P.O. West Mattland; J. J. McGuigan, Band, N.S.W. Chambers, Williams-t., Bathurst; A. G. Winter, 137 Paim-av, Lecton; M. G. Blacklock, P.O. Box 65, Goulburn; A. J. Chalmers, Blarco-rd, Nowrs; J. R. Paulette, P.O. Box 9, Kempsey; J. F. Parkis, Gonoo-Gonoo-rd, Tamworth; J. R. Swan, P.O. Box 76, Forber; G. Watson, P.O. Box 290, Lismore; C. Woodard, F.O. Box 63, Wagga.

3. Secretaries of Advisory Committees and Junior Farmers' Clubs should not accept entries unless they comply with requirements in the Constitution governing Competitions at Shows.

4. There are no entry fees.

5. Books for Classes 47 to 54 are to be posted direct to Mr. G. M. Blacklock, Secretary, Junior Farmer Clubs' Council, Education Department, Box 33, G.P.O., Sydney. Closing date for receipt of these is Wednesday, 3rd March. Entries for all classes must be received by Espervisors not later than Saturday, Sitst January.

6. An address label will in due course be forwarded to each competitor. (Except for books).

7. Competitors shall not pay freight on the exhibits (except postage on books). THE EXHIBITS SHALL BE CONSIGNED BY GOOBS TRAIN ONLY. The consignment note must be received in Sydney not later than Saturday, 13th March, 1948. Exhibits for the Vegatable Section must be received in Nydney not later than Saturday, 13th March, 1948. Exhibits and ready for judging not later than 8.30 a.m., Monday, 22nd March, to enable judging to commence at 9 a.m.

6. Competitors who d

DAIRY CATTLE CLASSES.
(Restricted to members of Junior Farmers' Clubs—see page 262.)

Show Animals covered for 14 days, including Transit to and from Farm. YORKSHIRE INSURANCE CO., LTD. Office on Ground. Essentially the Farmers' Office.